03 He put down his pen and picked up his favorite book, Robin
Hood.

04 He decided to read himself to sleep.

05 When he was about to open the book, he heard a voice.

06 He looked up from the book to see who was talking.

07 He couldn’t believe his eyes. It was his dog, Manny, who was
talking!

08 “Close your eyes and repeat after me. Cogito ergo sum,” said
Manny.

09 “You can talk?” “Just repeat! Cogito ergo sum.” Pascal closed
his eyes and repeated the words.

10 Suddenly, he heard men shouting. When he opened his eyes,
he saw soldiers on horses.

11 They were chasing a man with arrows in his hand. The man
saw Pascal and shouted.

12 “It’s too dangerous for you to stand there. Come on.”

13 The man pulled Pascal onto his horse and rode into the
woods.

14 When they arrived at a house, the man stopped and got off
his horse.

15 “Hello, my name is Robin Hood.” ©

Hood from the book?”

Wow! Are you the Robin

16 “No, I'm the Robin Hood of Sherwood Forest. Who are you and
why are you here?”

17 “My name is Pascal. | don’t know why I'm here, but there must
be a reason.

18 You saved me from the soldiers. Thank you so much. Is there
anything | can do for you?”

19 “Well, can you help us get back the money that the king took
from the people? He taxed them too much.

20 He is too greedy to share with the people, so they don’t have
enough money to buy food.

21 I'want to help them get their money back.

22 However, there are many soldiers in the tower, so no one can
get inside.”

23 “Hmm... | think | have a solution. But first, can you take me to
the tower?

24 1 need to count the number of soldiers.”

25 Robin and Pascal hid up in a tree and counted the soldiers one
by one.

26 “There are five soldiers from midnight to six in the morning.

27 Next, there are three soldiers until noon, and then there are
eight soldiers until six in the evening.

28 Lastly, there are twelve soldiers until midnight.

29 So, you should go inside between six in the morning and
noon.”

30 “What? | don’t get it.”

31 Pascal thought for a moment. ‘Hmm... A graph might make
this easier to understand.’

32 Pascal drew a graph and showed it to Robin.
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33 “Look, the most dangerous time is between six in the evening
and midnight.

34 Four times more soldiers work at that time than from six in the
morning until noon. Do you see what | mean?”

35 “Ahal | get it now. Thank you so much, Pascal!”

36 “You're welcome. Now | realize the importance of graphs. No
one can say that we don’t need them anymore.”

37 Pascal walked out of the woods. When he looked back, he
saw Robin Hood waving at him.

38 Pascal waved back and said to himself, “It was a great
adventure. How do | go back? Oh, | know. | should say the

1

words Cogito ergo sum!

A3mM Review p.71

A 01 When he was about to open the book, he heard a voice.
02 He decided to read himself to sleep.
03 A graph might make this easier to understand.
04 No one needs graphs in real life.
05 He is too greedy to share with the people, so they don’t
have enough money to buy food.
B 01 When he looked back, he saw Robin Hood wavinglwave] at
him.
02 Well, can you help us (to) get back the money that the
king took from the people?
03 It’s too hard to read and draw graphs.
04 It's too dangerous for you to stand there.
05 Four times more soldiers work at that time than from six in

the morning until noon.

01 @ 02® 03@®

04 Are you all set for the trip this weekend? 050®
06 ® 07 ® 08 Surprised by his creative idea
09® 100 11 Turning to the left 12®
13@

14 The picture on the right is called a maze and has both an
entrance and an exit.
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05 I don’t think anyone should be allowed to use a room for more
than an hour a day.
06 @ 07 ® 08 @

09 It was last week that we moved here from London.

10 however, he is so popular with the girls 1"M®
123 13@ 14 @ 15® 16 @
17 As the saying goes, “Strike while the iron is hot.”
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19 (1) @, At first, we met two to three times a week.
(2) ®, It is you wholthat] should decide what is best for you.
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15 I don’t know why I'm here, but there must be a reason.
16 @
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19 When he looked back, he saw Robin Hood waving at him.
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17 It's too hard to read and draw graphs.
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